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CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN
OR MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE
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render the Answer Sheet liable for rejection. L

3. You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.
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you want to mark on the Answer Sheet. In case you feel that there is more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE
response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See
directions in the Answer Sheet, '

All items carry equal marks.
Before you proceed to mark in the Answer Sheet the response to various items in the Test

Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent
to you with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the
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no penalty for that question.
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‘Let X be the set of all citizens of India.
Elements x, y in X are said to be related
if the difference of their age is 5 years.
Which one of the following is correct ?

(a) The relation is an equivalence relation
on X.

The relation is symmetric but neither
reflexive nor transitive.

(b)
(c)

symmetric nor transitive.
None of the above

@

Consider the following relations from A
to B where A= {u, v, w, X, ¥, z} and

={p, q, 1, s}.
1‘ {(w, p), % D), (W, D), (% 9, (3 D (2 O}
2. {(u, p), (v, @), (W, 1), (2, 5)}
3. {ws), (v, (W g, (4 p). v, z 9}
4. {(v,q)™p),Ws), X0, 9, (=)}

Which of the above relations are not
functions ?

(a) 1 and 2
(b) 1 and 4
(c}) 2 and 3
(d) 3and 4

If o and B are the roots of the equation
ax? + bx + ¢ = 0, where a # 0, then
(ao. + b) (af + b) is equal to :

(a) ab

~(b) be

(c) ca

(d)

Let S denote set of all integers. Define a
relation R on S as ‘aRb if ab > 0 where
a, be S Then R is :

(a) Reflexive but neither symmetric nor
transitive relation

Reflexive, symmetric but not
transitive relation

An equivalence relation
Symmetric but neither reflexive nor
transitive relation

(b)

(©)
(d)

The relation is reflexive but neither .

* 2

5.

prepp

The roots ofﬂieequationZa%(z-Zabk+b2=0
when a <0and b > 0 are :

(a) Sometimes complex

(b) Always irrational

(c) Always complex

(d) Always real

What is the sum’ of the two numbers
(11110), and (1010), ?

(a) (101000),

(b) (110000),

() (100100),

(d) (101100),

Let N denote the set of all non-negative

. integers and Z denote the set of all integers.

The function f :
fix)=1x}is:
(a) One-one but not onto
(b) Onto but not one-one
(c) Both one-one and onto
(d) Neither one-one nor onto

Z - N given by

If P and Q are two complex numbers,

then the modulus of the quotient of P and

Qis:

(a) Greater than the quotient of their
moduli

(b)

tc)

Less than the quotient of their moduli

Less than or equal to the quotient of
their moduli

(d) Equal to the quotient of their moduli

Let z = x + iy where X, y are real variables

sonal Exams Guide

and i=v—-1.1f|2z-1]|=|z—2|, then

the point z describes :
(@) A circle

(b) An ellipse

(c) A hyperbola

(d) A parabola

(Contd.)
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1.

e v fF oamea & wsft AmiE @
gYay X 21 X ¥ sand x, y gefha w2
W4 & e IqN w AT 5T B
Preafofed ® & A ™ w8 & 7
(a) T ey, X T TF Tod §Y B\
(b) Uz Gy wab 8 fheg 9 o @ged
2 A AR AFHF B :
(c) U8 Wey Tgew & fheg 7 a1 wali@
2R A & wEmE 2.
() SEF ¥ & F5 @
AT BH Prafdfes odat w faaw
e, o8 A= {u, v, w, x, y, 2} IX
B={p.qr s}
{(w, p) (v p) (W, p), (%, Q) (v, D, (2 P}

1.
-2, {(u,' p), (V, q)s (W, I'), (Z: S)}
3.

{(u, s), v, 1), (W, Q), (w, ), (v, @), (z. Q)}
4. {{u,q), % p) (W), x,1), (%, D, (2, 8)}

IR # ¥ AN Y wAT AG 8 7
C (@ 132

(b) 134
(¢} 233
(@ 34

gfe qfiFRw ax?+ bx + ¢ =0, 9@l a = 0,
AT o NPT, A (acw + b) (@B + b)
fres goo 2 7

(a) ab

(b) be

{c) ca

(d) abc

o v S, ot qiet & wge w0

Afdd F@ 81 S W HEY R ‘aRb, A

ab> 0,8 a,be S, P T F TRATT

2 d RAw B 7

(a) wged fg 7 @1 @Atk T A &
e Ey

(b) g, wRP weE g g T

() T Wy
(d) Tl fmg 7 & w=@gew R T @
GEGCIE L)

'
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iR 22 —2abx + B =0, ¥ a < 0 A

b>0F Ao &g yvw & § 7

(@) F0 Fofr wiwy

(b) g AT
(c) weg AN

(d) 939 arEgfe®

A F@wEl (11110), 3T (1010), F1 IRt
fam & 7 Lo
(a) (101000),

" (b) (110000),

(c) (100100),
(@) (101100),

o dfsg N, 3l woeT ol deml #
=99 H ARG wa1 8 M Z, @
el & weey A @fw w1 2
fx)=1x| ¥ Rw mr w4 f: Z >N
a2 7

(@) @ Ty sreoRE AR

(b) I=BTF T @F AL
(¢) & M A=VRS AA
(d) T @WF I 7 & I=oKH

R Pat Q& wftwyw gwd 2, @1 Pl
Q# v & ww fraam & 7
() 3T W $ Rem ¥ e
(b) 3AF TR B fFwmr & wA

(¢) IS AMH B /e @ F7 W IS
ERICE :

(d) 3I7H WOl & AW $ FE

T AT z = x + iy, T8 x, y IEEF 9L

T aR i=J-11 3R [2z2-1|=|z~-2]|
2 a gz s @7

(@ 39

(b) Qg

(¢) 3rfauTae™

(d) UREwg

(Contd.)
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10. The sum of an infinite GP is x and the

©

11.

12.

13.

common ratio r is such that {r | < 1. If
the first term of the GP is 2, then which
one of the following is correct ?

(@ -1<x<l1
(b) —0<x<1
l<x<w
(d) None of the above

A box contains 3 white and 2 black balls.
Two balls are drawn at random one after
the other. If the balls are not replaced,
what is the probability that both the balls

- are black 7

2/5

1/5

1/10

None of the above

(a)
)
(c)
(d)

For two variables x and vy, the two
regression coefficients are b =-3/2 and
b, = —1/6. The correlation coefficient
between x and y is :

(a) -1/4

(b) 1/4

() -1/2

@ 12

The variance of numbers x,, b S ST X
is V. Consider the following statements :

1. If every x, is increased by 2, the
variance of the new set of numbers
is V.

2. If the numbers x, is squared, the
variance of the new set is V2,

Which of the following statements is/are
correct 7

{a) 1 only

() 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

* b

14.

15.

16,

17.

18.
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What is the mean of the squares of the
first 20 natural numbers 7 | :
(a) 151.5 o

(b)y 143.5 '

(c) 65

d 72

p, Q, I, S, t are five numbers such that the
average of p, q and r is 5 and that of s
and t is 10. What is the average of all the
five numbers ? '

@) 7.75
(®) 7.5
(© 7
d) 5

The cumulative frequency of the largest
observed value must always be :

(a) Less than the total number of
observations

Greater than the total number of
observations

Equal to total number of observations

Equal to mid peint of the last class
interval

(b

()
(d)

It has been found that if A and B play a
game 12 times, A wins 6 times, B wins
4 times and they draw twice. A and B
take part in a series of 3 games. The
probability that they win alternately, is :

(a) 5/12
(b) 5/36
(c) 19/27
(d) 5727

Out of 7 consonants and 4 vowels, words
are to be formed by involving 3 consonants
and 2 vowels. The number of such words
formed is :

(a) 25200
(b) 22500
(¢) 10080
(d) 5040
(Contd.)
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10.

11.

12.

(@)

13.

TE FFq GP #1 WOed x & i g
o r %@ ® R |r| <12 Al GP
@1 YuR Ug 28, A freAfofg ® |/ @A
TF e 2 7

(@ -1<x<1

(b) —o<x<1

(¢) 1 <x<w

(d) SHw ¥ ¥ TR AW

TF T3 K 3 w%e A2 Fwn A€ Q@
e T F W TF el
art ¥4 R WY F g s § g sen
wmer, d@ A AR B F B A i
g 7

(a) 2/5.

(b) 1/5

() 1/10

(d) Swm & & Fg W

A x My D R, D owEEE
b, =-323Tb =-1/6%1 x My

it qeHa" TUIE w1 B 7
-1/4
(b) 1/4
) -1/2
(@ 172
Xys Xy Xgy oroe xmashmwv%l'

1 Xp

Preffe w0l WX R ARG -

. IR vaAF x A 29 T, @ W
el ® Wy B GET VR |

2. TR wEEt x F oA T I, @AY
A 1 T V2 E |

Prefofm sat ¥ ¥ ATE/A w8

g7

(d Al A &2

*

14.

15.

16.

17.

18.
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szommaﬁ%aﬁwmww
g ? .

(@) 151.5

(b) 143.5

(c) 65.

d) 72

ufg g p,q, 1, s, t8 T YR & p,
qaﬁTrWGﬁ'ﬂ?TS%, AT s ATt H AEd
1081 g el el &1 fed ;T 8 !

(a) 7.75
) 7.5
(c) 7
(d 5

geoA IfE@ AT AT gl SR qed
T BT WY 7
(a) YT A Ha dew ¥ w9

- (b) Y& F FTA T § A

(c) &AW N HA Tew F FUGL
(d) ¥fm @ sfawd & Aoidg & qasC

R AMRBTE FF 12 T @ &, A
TE g Smer 8 fF A, 6 9 e 2, B,
4 e e & X 3 D s sbfila @
g1 ARB, 3 A = yeen ¥ Rew ad
g1 99 -l ® S # g
T g 7

(@) 5/12

(b) 5/36

(c) 19/27

(d) 5/27

N L
2aﬂaﬁﬁawwaﬂﬁ%iww
§4 weal Pt oGET 1B 7

(a) 25200
(b) 22500
(c) 10080
(d) 5040

(Contd.)
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19. Let X denote the number of scores which 23.

20.

21.

22.

exceed 4 in 18, tosses of a symmetrical
die. Consider the following statements :
1. The arithmetic mean of X is 6.

2. The standard deviation of X is 2.

Which of the above statements is/are
correct 7

(a) 1 only
{(b) 2 only
(¢} Both 1 and 2

(d) Neither 1 nor 2

How many different words can be formed -
by taking four letters out of the letters of
the word ‘AGAIN’ if each word has to
start with A ?

(a) 6 . 25.

) 12
(c) 24
(d) None of the above

The sum of the series formed by the

sequence 3, /3, 1 ..... upto infinity is :

W33 +1)

(a) 5

) 343 («2/3 ~1)

3(\3+1)

(c) >

26.

@ ——3(‘/52””

If |z+Z|=|z-Z]|, then the locus of z is :
(a) A pair of straight lines

(b) A line

(c) A set of four straight lines

(d) A circle '

* N

24,

prepp
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The number 251 in decimal system is
expressed in binary system by :

(a) 11110111 '

(b) 11111011 A

(c) 11111101 ‘

(d) 11111110

What is the argument of the éomplex
number Q—i;—)-(-z—ﬂz where i=+—1 ?
—1i
(@ 0
b =
®)
I
© -3
o =
@ 3

Consider the following statements in respect

ot 2
of the matrix A=| -1 0 -3
-2 3 0

1. The matrix A is skew-symmetric.
2. The matrix A is symmetric.

3. The matrix A is invertible.
Which of the above statements is/are
correct ?

(@ 1 only
(b) 3 only
(c) 1and 3
(d) 2 and 3

2
Consider two matrices A = 1 | and
1

[T 5 T S

1 2 -4 | .
B= 2 1 -4 | Which one of the

following is correct ?
(a) B is the right inverse of A
(b) B is the left inverse of A

(c) B is the both sided inverse of A

(d) None of the above
{(Contd.)
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19.

20.

21.

- ()

22,

AR e, w At i@ @ 18 IoT
A 47 9 B urail @ gEm w@ X
afea w7 Prafafas s w® RER
BT

1. X & qHigx Wed 6 2 |

2. X & A% fagem 2 @1

SHEw el § FFE/q w8/ 7
(a) dad 1

(b) Faa 2

(¢) 13 29

(d Fad1,7 82

frat A=A 7 @9 W1 wEd €
TAF TR A ¥ URH B 7
(a) 6

(b) 12

(c) 24

@ e ¥ IR

e AGAIN 3 & ® § 4 17T dHY
, g

------

@) 343 («2/3 +1)

®) 3\/5(\2/3—1)

33 +1)
2

3(\3-1)

2

(d)

MR |z+Z|=|z-F| @ z N [fegoa w0
g7 '
(a) ®X@ @R & gH

(b)) T

(c) IR FI@ T@R F GHEH
(d) 99

* =]

23,

24,

25.
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TImad Ty @ gen 251, el vl
¥ $u frefm B 2 7
(a) 11110111

(b) 11111011
(c) 11111101

() 11111110

aftmr gey GHDCHD o o

WWW%B?—I

(a) O

Tt

©

(c)."g

@ 3
01 2 _

g A=| -1 0 -3|3F ®adf #
-2 3 0

Preafifeg sl o e SR
1. s A Rem-wafha 2

2 yTegE A GHEE R

26.

3. IE A TeFAOT B |
IR FA A wAE/d ad B/E 7
(a) daa 1
(b) a3
(¢) 133
d 233
1 2
A At A=|2 1|
11

g 12 -4 R
—21_4q-rf%4'%rr($“tﬁ?r|

Preafafen & § 9w & 8 2 7
(a) A @7 & gRew B2
(b) A %1 I ghaw B2
(c) A® QAT wedf F gheiwm BE
(d) 9w ¥ ¥ P A

(Contd.)
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~ 27. One of the roots of
X+a b c
a xX+b ¢ |=01is:
a b X+c
(a) abc ‘
b) a+b+c
(¢} —-(a+b+c)
(d) -—abc '

28. If Ais any matrix, then the product AA is

defined only when A is a matrix of order
m x n where :

(a) m>n
(b)) m<n
(¢) m=n
(d m<n

29. The determinant of an odd order skew
symmetric matrix is always :

(a) Zero

(b) One

(c) Negative

(d) Depends on the matrix

30. If any two adjacent rows or columns of a
determinant are interchanged in position,
the value of the determinant :

(a) Becomes zero

(b) Remains the same

(c) Changes its sign

(d) Is doubled

For the next three (03) items that follow :
In a survey of 25 students, it was found that
- 15 had taken Mathematics, 12 had taken Physics
and 11 had taken Chemistry, 5 had taken
Mathematics and Chemistry, 9 had taken
Mathematics and Physics, 4 had taken Physics
and Chemistry and 3 had taken all the three
subjects.
"31. The number of students who had taken
only Physics is :
(a) 2
(b) 3
(€) S
(d 6

©o32.

33.

* 00

prepp

rsonal Exams Guide

The number of students who had taken
only two subjects is :

(@ 7
(b 8
© 9
(d 10

Consider the following-statements :

1. The number of students who had
taken only one subject is equal to
the number of students who had taken
only two subjects.

2. The number of students who had

taken at least two subjects is four

times the number of students who
had taken all the three subjects.

Which of the above statements is/are
correct ?

(@) 1 only

® 2only
(¢) Both 1 and 2
(d) Neither 1 nor 2

For the next three (03) items that follow :

1 I
In the expansion of [X3 —7) where n is a
. X

positive integer, the sum of the coefficients of
x* and x" is 0.
34. What is n equal to ?

(@ s

(b) 10

(¢) 15

(d) None of the above

35. What is the value of the independent term ?
(a) 5005 '
(b) 7200

(¢) -5005

(d) -7200
(Contd.)
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i
x+a b ¢

a X+b ¢ |=0

a b x+¢
2o A A @ A R
(a) abc

(b) a+b+ec

() -(@a+b+c)

(d) —abc

R AP w1 B, A PEAHT AA TOTRT
2 dad ot FafEF AR m x nF1 AegE
g wel

() m>n_

(b) m<n

(c) m=n
(d) m<n

- 27,

29.
IR weg FT BT B 7
(@) IH '

(b) T
(c) HUIHS
(d) smege W frse @

oF g F S QN AEeT dieqdl W
wl # Rafy ¥ Rfee w1 R s
puncca i o N '
(a) I B W R

(b) FE FAT @A &

(¢) s forg w<er 2 @

(@) AT B W @

W I G "/ (03) v F fag e
25 et & wdeor A o oM B 15 R
Tt Y 8, 127 e o 8 etk 11
fas B 2, 53 hm R W
2, 97 7ig Ax sHfe < 8, 43
g&ugﬁaﬁ%m%ﬁ'(3% gt 1 R

|
31. 39 fnffgf + 9= w7 8, ™7 39w

qfest ot &8 7 .

(a) 2

() 3

() 5

) 6

30.

w fam wife fom gufim aege &0

N0
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32, 39 [affay & venm ¥ g, el 9
o fasg fqg @ 7
(@) .7
(b) -8
() 9
@ 10

33.

(b) ®ad 2
(¢) 13T 23
(d T D1, T2

AN A T W (03) ywe % g o

[x3—;15] o mT T 8, % S A
x5 AT X0 FH R T AT 0B
34, n e Tw 8 7

@ s

(b) 10

() 15

(@) vf= ¥ ¥ : A9

35. @ UQ H WA wT R 7
(a) 5005 |
(b) 7200
(c) -5005 .
(d) —7200

(Contd.)
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36. What is the sum of the coefficients of the 41.

two middle terms ?

(@ 0O

() 1!

© -1

{(d) None of the above

For the next three (03) items that follow :
Given that C(n, r) : C(n, r + 1) =1 : 2 and
Cn,r+1):Cln,r+2)=2:3,

37.

38.

39.

40.

What is n equal to ?
{a) 11
) 12
) 13
(d) 14

What is r equal to ?.
(@) 2
() 3
(c) 4
@ 5

What is P(n, 1) : C(n, r) equal to ?
(a) 6

(b) 24

(c) 120

@ 720 43.

The complete solution of 3 tan’x = 1 is

.given by :

pio

X=ng+—

(@ 3
(b) x=nn+§ only

T
X = +—
(¢) nm 5

(d) x= IlTH--:S£ only

where n € Z

42.

G

prepp
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What is the value of cos 36° ?

J5-1

(a) Y

J§+1
4

V104245

e ———

4 :

J10-245

4

(b)
(©)

(d)

Consider the following statements :

1. Value of sin 0 oscillates between —1
and 1. ‘

2. Value of cos 0 oscillates between 0
and 1i.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

If x and y are positive and xy > 1, then
what is tan™' x + tan™ y equal to ?

tan—l[x+y]
1—-xy

T+ tan"l [HJ

(a)

(b)

(©)

(Contd.)



www.prepp.in

36. @ HEWR & YWWH W qr Fwr g7
(@ 0
® 1
(c) -1 |
(d) Swgw & ¥ ¥ A&

AN I T A (03) wrAr & fag .
fmE®H Cmn:Cnr+1)=1:23
Cnr+1):Cnr+2)=2:3,
37. nfus Tow & 7

(@) 11

(b) 12

(c) 13

d 14

riFEe g 2 7
(a) 2
(b 3
(c) 4
(d 5

33,

39. P(n, 1) : C(n, 1) B go@ 2 7

(@) 6

(b) 24
(c) 120
(d 720

40. 3tan’x = 1 ¥ YUl &7 T B 7

M-
=nnt—
(a) Xx=nn 3
(b) Faw x=n1r+%
n
=nm+—
(¢) X=nm p

(d) @ad x=n‘n:+%

9B ne Z

4].

42,

43.
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cos 36° FT W FT T ?

@ J§4—1 |

J§+1

4

J10+245

4

Ji0-245

4

(b)

()

(d)

Ffafea & W Er 9k .

. sin@ & ®F -1 3 13 &g *
T F B

2. cosOFTAM 03X 1% fiw ¥ QoA
HIAT 2 "

SrFd FuAl § wAE/d W 37 7

(a) Fac 1

(by @aa 2

) 13 237

(d 7Tq1, 7 A2

ok x My gATTHF B 3ﬁ‘(xy>.la§f
tan? x + tan! y TG gy 2 7

A x+y
(a) tan (l - ny

(Contd.)
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44. Consider the following statements :

.2 1° 3..1%)
l. n|sin“67= -sin“22— |[>1 for
2 2
all positive integers n > 2.
2. Ifxis any positive real number, then
nx > 1 for all positive integers n > 2,

Which of the above statements is/are

correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

45. Consider the following statements :

1. If 36 is an acute angle such that
sin 30 = cos 20, then the measurement

of © in radian equals to %

2. One radian is the angle subtended at
the centre of a circle by an arc of the
same circle whose length is equal to
the diameter of that circle.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

46. From an aeroplane above a straight road

the angles of depression of two positions
at a distance 20 m apart on the road are
observed to be 30° and 45°. The height of
the aeroplane above the ground is :

(@ 1043 m
(b) 10/3-1) m

(¢) 10(~3+1) m
(@ 20 m

47,

48.

49.

50.
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Consider the following statements :

1. There exists no triangle ABC for
which sin A + sin B = sin C.

2. If the angles of a triangle are in' the
ratio 1 ; 2 : 3, then its sides will be
in the ratio 1: /3 : 2.

Which of the‘above statements is/are
correct 7

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements :

1. " sin|x |+ cos|x|is always positive.
2. sin(x?) + cos(x?) is always positive.
Which of the above statements is/are
correct ?7

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither | nor 2

l+sinA 1-sinA
1-sinA l+sinA
(a) sec A —tan A

(b) 2sec A.tan A

(c) 4secA.tan A

(d) 4 cosec A. cot A

What is equal to ?

cot 224° —cot 134°
cot 226° + cot 316°
(a) -cosec 88°
(b) —cosec 2°
(c) —cosec 44°

What is equal to ?

.(d) —cosec 46°

(Contd.)
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44. Frfeafaa st W) e il .
o o

1. n|sin?67- -
2

g1 oie n 229 fal
2. R x * gAene aERE dewm
@ @ g Uil n22% fl

nx > 11 .
Jufs FuAT § RFE/A G 88 7
(a) ®ad 1
(b) dad@ 2
(¢) 13T 2
(d 7T @1,T &2

Pt w9t ot e ifng .
1. W 30 TE @ g ww @
sin 30 = cos 20, & GEFT?%TFI

. 2..1°
sin 22—2- >1, a=f

45.

o

AF ~ B qOET 3 |

(c) 13T 2y,
@ 7@, T &2

46. TF @ TSF F FI T gAE B
J§ WSE W 20 m ygd QA A
FEAHT FU 30° AT 45° Ufer fhu
§|?W$msm€ﬁmaﬁﬁ1€

(a) 1043 m
®) 10(3-1) m

(¢) 10(3+1) m
(d) 20 m

q

&
iG]
7

47.

48.

49,

50.
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Freafafag s e Afg

1. W &R Bye ABC %1 Ifigca 8
g1 s o sinA +sinB=sin C
B

2. wWR R Brm & P12
g § & @ e o 1 J_z
& o ¥ By

avgﬁmﬁﬁwﬁw%/%?

(a) Fad 1

(b) ®ad 2 .

(©) 13 2qf

(@ T 1, TH2

Preafaf wot ot faem @R

1. sin|x]+cos|x|d3T GRS BT
Bl

2. sin(x®) + cos(x?) §d GRA® B
g

IgF Fa W RFA/A @ 8E 7

(@) ®ad 1

(b) Fad 2

(c) 13T 2 Q4f

(d Tl 7 &2

l+sinA 1-sinA
1-sinA 1+sinA
(a). sec A—tan A
(b) 2sec A.tan A
(¢) 4secA.tan A
(d) 4 cosec A . cot A

£ o o

cot 224° —cot 134°
cot 226° + cot 316°
(a) —cosec 88°

fros qea @ 7

. (b) —cosec 2°

{c) —cosec 44°
(d) —cosec 46°
(Contd.)



www.prepp.in

51

52.

53.

54.

. 55,

Consider the following statements :

1. tan 1 + tan™' (0.5) = n/2

2. sin! (1/3) + cos™ (1/3) = »/2
Which of the above statements is/are
correct 7

(a) 1 only

(b) 2 only

(c} Both 1 and 2

(d) Neither 1 nor 2

If A+ B + C = m, then what is
cos(A + B) + cos C equal to ?

(a 0O

(b) 2 cos C

(c) cos C —-sin C

(d) 2sin C

What is cos 20° + cos 100° + cos 140°
equal to ?

(@ 2

(b) 1

(c)y 12

(d) 0

What is sin! sin ESE equal to ?
3n

B

T

5

T

(a)

3%

(b)

© 3
(d) None of the above
What is sin’(3n) + cos’(4m) + tan®(Sm)

equal to ?
(@ 0

. () 1

(c) 2
(d 3

60.

56.

57.

58.

59.
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C0n31der the followmg pmnts

1. (0, 5)
2. 2, -1
3. (3, -4)

Which of the above lie on the hne3x+y 5
and at a distance J— from (1, 2) ?
(a) 1 only

(b) 2 only

(¢) I and 2 only

(d) 1,2 and 3

What is the equation of the line through
(1, 2) so that the segment of the line
intercepted between the axes is bisected
at this point ?

(a) 2x -y =4
(b) 2x ~y+4=0
(c) 2x+y=4

d 2x+y+4=0

What is the equation of straight line passing
through the point (4, 3) and making equal
intercepts on the coordinate axes ?

(a) x+y=7
(b) Ix+4y=7
e} x~y=1

(d) None of the above

What is the equation of the line midway
between the lines 3x — 4y + 12 = 0 and
3x—4y=67?

(a) 3x-4y-9=0

(b 3x -4y +9=0

(¢} 3x-4y-3=0

(d) 3x-4y+3=0

What is the sum of the major and minor
axes of the ellipse whose eccentricity
is 4/5 and length of latus rectum is
14.4 unit ?

(a) 32 unit
(b) 48 unit
(¢} 64 unit
(d) None of the above

(Contd.)
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51. Prafefed Faft W feR AR 56. Prefafa figsll w Rew #ik

1. tan” 1 + tan™ (0.5) = 7/2

2. sin? (1/3) + cos™ (1/3) = n/2
IfF wO ¥ ATR/A W 22 7
(a) Faa 1

1. (0, 5)

2. (2,-1)

3. (3, -4)

quf?!ﬁaf ¥ A/, @ X +y=5W
M (1,2 10 T W R 7

(b) Fam 2 _
© 134 2 A= (a) P 1
(@ F@LATE2 (b) F 2
’ (c) ®ad | AT 2
52. TR A+B+C=m, cos(A+B)+cos C (d) 1,233 7
?
ﬁ»‘a%ogﬂr%. 57. fg (1,2) ¥ A e W e #;,
(@ 0 Rree 98 & 4 Fed @ Y@ @3 ol
(b) 2¢os C iy W R @, wftew @ 2 2
(c) cos C—-sin C (A 2x —y =4
(d) 2sinC | (b) 2x —y+4=0
53. c0s 20° + cos 100° + cos 140° R qea © Zx+y=4
2 ? d 2x+y+4=0
(@ 2 58. g (4,3) ¥ T Ak o Prdus a
(b) 1 R TR TS T A T TH
(© 172 g7 :
(d) 0 (@ x+y=7
(b) 3x + 4y =7
o OF © x-y=1
.54' sxn‘s.msﬁ?ﬂﬂ\»@'t’q%? (d)G‘lﬁﬁﬁc%ﬁéT&f’f
@ %E 59. 3x — 4y + 12 = 0 3 3x — 4y = 6 Y@
o ® W H @ H FHIHOT TR 7
b) < (@) 3x-4y-9=0
n (b) 3x -4y +9=0
© 3 (¢) 3x-4y-3=0
(d) s ¥ § FE T (d 3x-4y+3=0
55. sin¥(3m) + cosX(4n) + tan?(Sx) frd gew 60, IW dgw A, FEAl IRTA 4/5 8 A
37 Tivdg # daR 144 E §, o
@ 0 ﬁgﬂ&ﬁﬂmwg?
®) 1 (a) 32 ™R
© 2 (b) 48 TFR
@ 3 (c) 64 T
(d) SgF ¥ § w1 T
15 (Contd.)
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For the next three (03) items that follow :
A straight line passes through (1, ~2, 3) and
perpendicular to the plane 2x + 3y -z = 7.

61. What are the direction ratios of normal
to plane ?

(a) <2,3,-1>

b <2,3,1>

() <-1,2,3>

(d) None of the above

62. Where does the line meet the plane ?
(a) (2,3,-1)
b) {1, 2,3
() (2,1,3)
d (3,1,2)

63. What is the image of the point (1, -2, 3)
in the plane ?
@@ (2,-1,5)
(b) (~1,2,-3)
© (5,4, 1)
(d) None of the above

For the next two (02) items that follow :
Consider the spheres x> + y? + 22 — 4y + 3 = 0
and X2+ y’+ 22+ 2x + 4z -4 = 0.
64. What is the distance between the centres
of the two spheres ?
(a) 5 unit
(b) 4 unit
{c) 3 unit
(d) 2 unit

65. Consider the following statements :
1. The two spheres intersect each other.

2. The radius of first sphere is less than
that of second sphere.

Which of the above statements is/aré
correct ? -

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

prepp
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For the next three (03) items that follow :

.The vertices of a triangle ABC are A(2, 3, 1),

B(-2, 2, 0) and C(0, 1, —1).
66. What is the cosine of angle ABC ?

1
(a) el
]
b 5
2
(c) 76

(d) None of the above

67. What is the area of the triangle ?
(@) 6.2 square unit
(b) 3.2 square unit

(¢) 1043 square unit
(d) None of the above

68. What is the magnitude of the line joining
mid points of the sides AC and BC ?

(a) 71—2— unit
(b) 1 unit
o 2 i
(d) 2 unit

For the next two (02) items that follow :

Consider the vectors a=i-2j+k and

b=4i-4j+7k.
69. What is the scalar projection of @ on
b ?
(@) 1
(b) 19/9
(c) 17/9
(d) 23/9
(Contd.)
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AN HA AW AT (03) yiml & fg c
TF g @ (1, -2,3) ® T 2 s e
2x+3y—z=7W T B
61. T W APl & Re-sqoa =w & 7
(@ <2,3,-1>
® <2,3, 1>
©) <-1,2,3>
(@) e ¥ F w3 T8

62. (@ Y9aA UX Fel Aot & 7
(@ (2,3,-1
() (1,2,3)
) (2,1, 3)
d G, 1,2

fg (1, -2, 3) 1 waer H widfsa a7 2 7
@ 2-.9)

(b) (-1, 2, -3)

€ 5,4, 1

() S ¥ A P A

AW N AR D (02) Y B o o
X+y +2—4y+3 =03
XX+y +22+2x +4z -4 =07 W fER
FI | _
64. Y MA D I B drw TH FWR ?

(a) 518

(b) 4 @

(c) 3 =R

(d) 2 @

65. Treafafes s X A fifm -
1. =490 M 9EI & red 8 |

2. 9y WA 7 B gEt ma A Brew
T F9 2

IR FHAl § wEE/R 9 /8 7
(a) a1

(b) A 2

(©) 13 23

(d @1, T2

63.
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F ST A d (03) e ¥ R

B[ ABC 3 ot A(2, 3, 1), B(=2, 2, 0) 3R
C@©, 1, -1 &1
66. T ABC &t Hrear Fo1 8 7

S

(a) NGl
1

® 7
2

© 75

(d) S # ¥ Fg 7

B 1 &awa Fur 8 7

(a) 6ﬁ31f'i$l"§

(b) 32 ¥ TR

() 1043 M T

(d SHw ¥ § $f 7

gt AC 9 BC & W Rrgdh @ g
arfl Y@ F1 uRE© A g ?

67.

68.

(@) %Wé
(b) 1%
© ‘j‘;wf
(d) 2R
AN X AT A (02) wEEt & forw

A G=i-2)+k M b=di-4j+7k WX

T | |
69. a H b 3w fAfy wr & 7

(a) 1

(b) 19/9
(c) 17/9
(d) 23/9

(Contd.)
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70. What is the vector perpendicular to both

+ ore 9 74. What is the angle between (3+b) and
e vectors

A A a-b) ?
(@) -10i-3j+4k @ )
r A T
(b) -10i+3j+4k @ 3
A€) 10i-3j+4k ,t
(d) None of the above ®) 3
For the next two (02) items that follow : (©) T
Let a vector T make angles 60°, 30° with x B 7
‘and y-axes respectively. (d). None of the above
71. What angle does T make with z-axis ? _ )
@ 30° 75. A line passes through the points (6, 7, —1)
(b) 60° and (2, -3, 1). What are the direction ratios
) 90° ‘ of the line ?
@ 120° @ <4,-4,2>
72. What are the direction cosines of T ? (b) <4,4,2>
1‘\/50 | (C) <_4s4’2>
@ \37>5" d <2,1,1>
1 3 (140" -1 '
(b). <§"’T’O> 76. What is 1im0 Ej—t:—-—~—- equal to ?
X~
(@ 0
<_1._ ._1_ 0> ) ‘1
©\=Z'7% ®
' (c) n
1V3 4 (d) n-1
@ 7 |
. X
. 77. What is lim ———u— equal to ?
For the next two (02) items that follow : x=0 VI-cosx
Let |dj=7, |B|=11, |a+b|=10V3 @ V2
73. What is [3-b]| equal to ? ' ® -2
1 .
(@) 242 (c) :/"? :
b
( ; ;?Jﬁ (d) Limit does not exist
(¢ : .
@ 10

18 . (Contd.)
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70, A whRe W wRw W@ w2 ?
(8 —10i-3j+4k
(b) —101+3j+4k
() 10i-3j+4k
@) s ¥ ¥ s 7

N AW AT B (02) WA & g e
A A wRRw §, x IR y-3| & FAW
60°, 30° T T |
71. T, z-38 § AT S0 9@ 8 7
(@) 30°
(b) 60°
(c) 90°
(dy 120°

7. F @ Re Pt w7

N FY T W[ (02) W 3 fer
- |@j=7, Ibl=11, |a+b|=10v3
73. |a-b| frws qew @ 7

@ 22

by 2710

© 5
@ 10

74.

75.

Your Personal Exams Guide

@+b) X E-b) & &= A 5 g7
@

T
& 3
© 7
(d) SoFm ¥ ¥ wF T
T @, (6,7, -1) AT (2, -3, 1) Rigah A
T 21 Y& # ey w7 & 7
(a) <4,-4,2>

(®) <4,4,2>
€ <-4,4,2>

@ <2,1,1>

76.

77.

N
o (140" -1
x—0 X

(@ 0
(b 1
(¢} n
@ n-1

Pred gea 8 7

lim
x—0

1-cosx fe ot &
(@) 2

® -2

(c) '1/%’

(d) ¥ % Ifaes 7E 2

(Contd.)
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l+cosx

78. Whaf is the detivative of
l-cosx

lsec:23
(@) s

b —-lcosec25
() ~yeosee’

X
~ cosec? =
2

(c)
(d) None of the above

| tan_lx
; e d
What is I 3 X equal to ?
0 I1+x

79.

80. What is the slope of the tangent to the
curve y = sin™ (sin? x) at x = 0 ?

(a) 0

(b) 1

(c) 2

(d) None of the above

d
The solution of 'l=lX| is :

§1. dx

xjx|

(@ y=——tc

[X]

(b) y=te
. 2
' X

' =—+c
| )y vy >
3
X
d ==

@ v 5 +c

where ¢ is an arbitrary constant

prepp
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82. What is the solution of .jl+2y=1
X

satisfying y(0) = 0 ?

l__e—ZX'
a =
(@ vy >
~2x
l+e
() y= >
€ y=1+e
1+eX
d =
(d) 2

For the next two (02) items that follow :
Consider the curve y = e,
83. What is the slope of the tangent to the

curve at (0, 1) ?

@ 0

() 1
(c) 2
@ 4

84. Where does the tangent to the curve at
(0, 1) meet the x-axis ?
@ (1,0

®) 2, 0

(©) (12,0

@ (172, 0)

For the next two (02) items that follow :

2 2
__+y_. 1

Consider an ellipse =1,
P a2 b2

85. What is the area of the greatest rectangle
that can be inscribed in the ellipse ?

(a) ab
{(b) 2 ab
(c) ab/2

(d) ab
(Contd.)
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78.

79.

-80.

81.

l+cosx
1-cosx

(@) Lsec?X
(@) 3% 3

FT JahAST T & 7

---l(.‘,()Sﬁ(l'f2 i |
®) -3 2

(c) —cosec’® >
2

(d)w@aﬁﬁ%ﬂﬁiaﬁ

! tan]xdx

-

0

ﬁm%g—u%?

1+x

i
(a) e*-1

i3
(b) e*+1
() e-1
(d) e

x =09 a& y=sin” (sin? x) & ¥t &
PENGIE T S

(a) 0

®) 1

(c) 2

(@) Sufw ¥ ¥ A

91=IX|msﬁam%?

dx
——xlx‘-Fc
(a VY )

& y=Dlie
2.

2

X
=—+C

©) v 2

-£+c
Y 2

(d)

Wl ¢ UF W9 Il B
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82. y(0) = 0 ¥TT FT §T g_y+2y=] 1 &
X

T g 7

1+ c_zx

2
@ y=1+e

(b) y=

1+e*
2

@ y=

I WA T B (02) et @ fa e
T y=e> W AR AR .

(, I)Wﬁ%mﬁﬁmw%?
(a) 0

() 1

) 2

(d 4

83.

84. (0, l)wwa%m?ﬁxarawwﬁaﬁ

37

(@ (1,0
b 2, 0)
(©) (172, 0)
(d (172, 0)

A A AT A (02) v ¥ R -

2 2

dfgx 5 +25=1 | RER A

a’? b?
85. dnfgw ¥ &Y o wFA A HewH I3
FT SAFA FT 8 7
(a) ab
{b) 2 ab
(c) ab/2

@. ab

(Contd.)
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86. What is the area included between the

90.
ellipse and the greatest rectangle inscribed
in the ellipse 7
(a) ab(m — 1)
(b) 2ab(n - 1)
{c) ab(m-2)
(d) None of the above
01.
For the next two (02) items that follow :
Consider the integrals
: P e
11=J dx andlzz_[ sin X dx ‘
» l++tanx ﬂ\/sinx+w/cosx
6 6
87. What is I, - 1, equal to ?
(@) ¢
(0) 21, 92.
) =
(d) None of the above
88. What is I, equal to ?
(a) mn/24
(b) n/18
© w12 | 2.
(@) n/6
For the next two (02) items that follow
Consider the function f(x) =~l:—§ﬂ2—
(n—2x)
: i i ' 94,
where X¢-2- and f(5J=7\.
89. What is Iimﬂ f(x) equal to ?
X=— . -
2
(@) 1
(by 1/2
¢ 174
(d) 1/8
22

prepp
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What is the value of A if the function is .

i
continuous at X=— 9

2
(a) 1/8

(b) 1/4

) 1/2

) 1

If {9) = 9 and f(9) = 4 then what is

Jix) -3

lim “——=— equal to ?
Xx—9 -\[;—3 equal to

(a) 36
(b 9
(c) 4
(d) None of the above

z
2
What is Ixsin xdx equal to ?
_x
@ o0 °
(b) 2
() 2
(d) =

What is the general solution of the
differential equation x dy ~y dx = y? ?
(a) x=cy

() y'=cx

{¢) x+xy—-cy=20

(d) None of the above

where ¢ is an arbitrary constant

Consider the following statements :

1. The function f(x)=3/x is continuous
at all x except at x = 0,

2. The function f(x) = [x] is continuous
at X = 2,99 where [.} is the bracket
function.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(¢c) Bothland2

(d) Neither 1 nor 2 :
{Contd.)
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86. ddga AT Adga F dR Mg HETH ST
% A ol &= fFam & 7
(a) ab(r - 1) |
(b) 2ab(m - 1)
(c) ab(m - 2)
C(d) SHw ¥ ¥ *E T
AN AR I T (02) YT F oI o
FHEAA]

+/sin x dx

Jsin X ++/cos X’

88. 1

FA A A DA (02) weE ¥ ferg
LR

1-sinx
f(x) = 5 °
- (m-2x)

fremr Ao

“ n T
#+— — | =
el X 23?(“{1”[2] A TOT

lim f(x)%a% T g7
X
2

(@) 1
() 12
() 1/4
@ 1/8

89.

90.

91.

92.

93,
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e e, X=g’¢(ﬂ'ﬂﬁ%?ﬁ AT A
T 8 7

(a) 1/8

(b) 1/4

() 12

(d) 1

R {9)=9 A f(9) =4, lim Vi) -3

9 Jx-3
s qea 8 7
(8) 36
(b) 9
(c) 4
(d s ¥ §F % T .

xsinxdx fFas T R

(a) 0
(b) 2
() -2
d =

L TE R

qaHhd FHHW x dy ~y dx =
B F 8 7

(a) x—cy

(b) y* =.cx

(c) xtxy-cy=

(d) = A %zﬁéwﬁ

W ¢ & IWT 2

y? F1 <9

. Frafafeg wuAl @ @R =i

1. w1 fx)=vx,x=0% R@m wfh
X 9T Gad B |

2. WA f{x) = [x], x =2.99 T "aq 2
wEl [] Fed w2 |

Is Fut ¥ Fra/w wd 28 7

(a) @I 1

(b) Faa 2

(c) 13T 2Q

(d T AL, T 82

(Contd.)
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95. Consider the following statements :

For the next three (03) items that follow :
Let f(x) be a function defined in 1 < x < o by

1. The function f(x) = | x | is not
differentiable at x = 1. £(x) = { 2 —x. ) for1<x<2
2. The function f(x) = e* is differentiable 3x-x* forx>2.

at x = (.

Which of the above statements is/are

99. Consider the following statements :

1. -The function is continuous at every
point in the interval [1, ).

correct 7 R :

2. The function is differentiable atx = 1.5.
(8 1 only Which of the above statements is/are
(b) 2 only correct ?
() Both 1 and 2 (@ 1 only
(d) Neither 1 nor 2 (b) 2 only

(¢) Both 1 and 2

96. If z = f o f(x) where f(x) = x2, then what (d) Neither 1 nor 2
is — equal to ? 100. What is the differentiable coefficient of
dx fx) at x = 3 ?
(@ x° (a) 1
(b 2x° ) 2
(c) 4%° (c) -1
(d) 4x? d -3

- For the next two (02) items that follow :

101. Consider the 'following statements :
- 1. f(2 + 0) does not exist.

2 (7 .
Consider the function f(x)=352____xll 2. (2 - 0) does not emst.
X +x+1 Which of the above statements is/are

97. What is the maximum value of the function 7 correct ?

(@) 172 (@) 1 only

A (¢) Both 1 and 2

© {d) Neither 1 nor 2

d 3
98. What is the minimum value of the function ? 2

@) 172 102, What is J' In(tan x)dx equal to ?

by 173 0

(C) 2 (a) in2

@ 3 (b) —In2

(c) 0 :
(d) None of the above

(Contd.)
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95. Fraffan wadY w e $iftm

1. %7 f(x)=| x|, x =19 &EFHTAT
L _

2. WAT f(x) = e, x = 0 9T HGHHY
F1

Suw FaA X REEwmA o % 0

(a) Fad 1

(b) Fad 2

(c) 18 27

(d 7Ta1, T E2

96. R z = f o f(x), W&l f(x) =
fdeh gow 2 7

(@ x°
(b) 2x3
(c) 4x°
) 4x

dz
X2, @ =

F I AR D (02) TR F P

2
o f(x) = X
X“+x+1

97. wed H AEFHIH WA Fr ¥ 7
() 172
®) 1/3
) 2
@ 3

) faam Fifsm)

98. w1 W FgAGN WA ¥ B 7
(a) 112
() 173

{c) 2
(d 3
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A I I A (03) weAw ¥ f .

LG IED 1<x<ooﬁw=rf(x)3am
sfonfda &

f(x):{Z‘X ,

Ix—-x _

1gx<2s
x>2 3R

99. Frefafee s W fRAEm Hifd
1. &, AqU [1, o) § Wl Bg we
Haa 21
2. WA, x=159C IgFAT &)
I FgT ¥ AR g 28 7
(a)%ﬁ?rl ‘
(by Faa 2 -
(c) 13T 2y
(d TFdqIL, T &2

100. f(x) 1 x = 3 T IaHaAT iFH F1 § 7
() 1
(b) 2
(c) -1
(d 3

101. Freafafad wo w A 9T
1. 2+ 0) & sfeaca T8 &)
2. (2 -0)F wRara =d )
Ioad FuAT R Fm/A el 88 7
(a) @a ‘1
(b) daa 2
(¢) 13T 2 QA1
(d) T AL, T &2

.4
2
102. [ Intan x)dx Bred gea 2 ?
.(a) 1In2
(b) -In2

(c) 0
d) SwF ¥ ¥ f T

(Contd.)



www.prepp.in

For the next three (03) items that follow :

The general solution of the differential equation
X+ x+Ddy + (¥ +y+ Ddx =0 is
(x+y+ 1) =A(l + Bx + Cy + Dxy) where B,
C and D are constants and A is parameter.
103. What is B equal to ?

(a) -1

() 1

(c) 2

(d) None of the above

104. What is C equal to ?
(@ 1
(b) -1
(¢) 2
{d) None of the above

105. What is D equal to ?

(@) -1
® 1
() 2

(d) None of the above

106. Consider the following statements :

1. The function f(x) = sin x decreases
on the interval (0, 7/2).

2. The function f(x) = cos x increases
on the interval (0, n/2).

Which of the above statements is/are

correct ?

(a) | only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

107. What is the number of arbitrary constants
in the particular solution of differential
. equation of third order ?

(@ 0
(b) 1
(c) 2
(d 3

108. What is the equation of a curve passing
through (0, 1) .and whose differential
equation is given by dy = y tan x dx ?
(a y=cosx

.(b) y=sinx
(c) y=secx
(d) y =cosec x

prepp
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109. Consider the following staternelnts in
respect of the differential .equation

2 .
d—1+cos(dy]=0:
dx? dx

1. The degree of the differential equation
is not defined.

2. The order of the differential equation
is 2.

Which of the above statements is/are

correct ?

(a) 1 only

(b} 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2 T

110. What is the equation of parabola whose
vertex is at (0, 0) and focus is at (0, -2) ?

(8) y2+8x=0
b)) ¥»-8=0
) xX*+8y=0"
d) x*—8y=0

For the next four (04) items that follow :
Number X is randomly selected from the set
of odd numbers and Y is randomly selected
from the set of even numbers of the set
£1,2,3,4,5,6, 7}. Let Z=(X + Y).
111. What-is P(Z = 5) equal to ?

(a) 1/2

(b) 173

{c) 1/4

(d) 1/6

112."What is P(Z = 10) equal to ?
(@) 0
(b) 172
(c) 173
(@) 1/5

113. What is P(Z > 11) equal to ?
(a) 0
(b) 1/4
() 1/6
(d) 1/12

(Contd.)
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T A At AT (03) weAmt & frg
e TR (2 +x+ Ddy + (P +y+ Ddx =0
F UF BT (x+y+ 1) =A(1 +Bx + Cy + Dxy)
g 98l B,C AT D 3mx § AT 21
103.B fres gew & 7

(@ -1

(b) 1

() 2

(&) S ¥ ¥ = A
104.C Pred gew 3 7

(a) 1

(b) -1

) 2 -

(d) Sgw ¥ ¥ A T
105.D fred qow 8 7

(a) -1
(b) 1
) -2

(d)wﬁwﬁ%ﬁéﬁ
- 106, Frefafag wuaY. 9x e <ifsg .

1. T f(x) = sin x, dGTA (0, n/2) W
FEAT & | :

2. WA f(x) = cos x, AT (0, 1/2) T

AT B |
SwfFd duAl ¥ FAE/A wd &8 7
(a) dad 1 -
(b) ®ad 2
(€ 13 2 QA
(d T AL, T &2

107. 798 #ife & sgods aiew F A9
T A W I9d H W@ §9 87
(a) 0
) 1
() 2
(d 3

108.(0, 1) & TORA AT IF F GHEHO] o
ga}mﬁﬂﬁmdy=ytanxdx%,am
(a) y=cosx
(b) y=sinx
(¢) y=secx
(d) y = cosec x
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109. JGFAT FHHT

) |
& veos(L)<0 % e 3 Frerifes
dx dx

WWWW

1. %Wmﬂwaﬁmmﬁwm
[

2. ¥EHAT GHIET B OFE 2 B

SgF FUAl ¥ wF@/d §d 2/

SN :

(a) Had 1

(b) @ad 2 |

(¢) 13T 2 QY

(d T@1, T &2

110. (0, 0) wx ¥ef FR(0, 2) W AN T
UGAY B GHG 4T 8 7
(a)
(b)
(c)
(d)

v+ 8 =0 -
yv:—8x=0
xXX+8y=0
x!~8y =0

W A AR < (04) W ¥ R

Tgoad (1,2,3,4,5,6,7) % f4om d@me $
Hgﬁm“i‘t 3 :?ﬁ}ﬂéﬁwxaﬂ“{w
donel & gAY € ughowd: g9 )] gen
Y& mF Z=(X+Y)I
H1L.PZ=5) e g 2 7

(a) 1/2 S

(d) /3

C(c) 1/4

(d) 1/6

112.P(Z = 10) s qew 8 7
(@) 0 '
(b) 1/2
(c) 1/3
(d) 1/5

113.P(Z > 11) fvgs gew 8 7
(8 O
(b) 1/4
(c) 1/6
@ 112
(Contd.)
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114. What is P(Z is the product of two prime
numbers) equal to-?

(a) 0
(b 12
(c) 1/4
(d) None of the above

For the next three (03) items that follow :
The number of telephone calls received in 245
successive one minute intervals at an exchange

is given below in the following frequency
distribution.

Number of
calls 01112)31415]6!7
Frequency |14 [21125]43|51(40|39112

115. What is the mean of the distribution ?
(a) 3.76
(b) 3.84
() 3.96
(d) 4.05

116. What is the median of the distribution ?
(a) 3.5
(b) 4
(c) 4.5
) 5

117. What is the mode of the distribution ?
(@) -3 )
(b) 4
(c) 5
d) 6

prepp
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For the next three (03) items that follow :

The mean and standard deviation o.f 100 items - .

are 50, 5 and that of 150 items are 40, 6
respectively.

118. What is the combined mean of alil
250 items ?

{a) 43
(b) 44
(c) 45
(d) 46

119. What is the combined standard deviation
of all 250 items ?

(a)y 7.1
(b)y 7.3
(c}y 7.5
(d) 7.7

120. What is the variance of all the 250 items ?
(a) 50.6
(b) 53.3
(c) .55.6
(d) 59.3
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114. P(Z Q. 9157 Tl F1 [owd 2) e
qeu ¥ 7
(a) 0
(b) 172
) 1/4
(d) S ¥ ¥ w1 74

# A AT A (03) wemEn & fo

Y sawa g7 ¥ UF wEEEw W 245.

W@%amﬁﬁéaﬁqﬁam
at g & M R

FIeAT .
=T 0|1 (213|4(5|16]|7
EILGIEGI 14{21125143|511{40/39]|12

115. 929 &1 "y s47 8 7
(a) 3.76.
(b) 3.84
() 3.96
(d) 4.05

116. 927 = Afeaswr == 8 7 .
(@) 3.5
(b) 4
(¢c) 4.5
@ 5

117.929 # gas =41 & 7
(a) 3
(b) 4
(c) 3
(d) 6.
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O I AR W (03) wemwt F fow -
100 7R &7 Aeg AR AWEF fawAw w50, 5
aﬁ'{lsoﬁwmwaﬂ'tmﬁﬂmm

. 40, 6 81

118. 70 250 7 F Yw W Fw g 7
(a) 43
(b) 44
() 45
(d) 46

119. 8 250 7Y F1 FYF AAFH Qe F7q
g7,
(a 7.1
(b)) 7.3
{cy 7.5
@ 77

120. 941 250 ®SY FT gEIO ¥ ¥ ?
(@) 50.6
(b) 53.3
(c) 55.6
(d) 59.3
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( Wq GF AT qE TR GRAFT @d ;T T A a7 T% T A ]
- 1A H. : B-MCZA-N-LZS wieror gt FEER

- TA
R \ |

7w - @ ww sk e fme (gt - 300)
1. wler grow 17 F g3 9%, AW @ viwwr gRaer # warw saw & odF ool
e fr o, wer ar gEr T IS aMar wenw iy A #) alR v d, @ @ '@
et gitaer @ e gl
2. T AA @ % OMR I-19% ¥, If@ wm W, I T S wQeer gRawr sgEw
B,CAT D, & & o o vt o o Rty 3wt ok gEae 7 9 e
W T B f ye A gE/hEnfa @ Rafy ¥ soewEs P w5 Rar
ST |

3, W Taw gRaw W Am ¥ Ry e Sres ¥ o q

i

ﬁ.
%Wﬁw%wﬁw%mﬂ
q 1 '
4. T e gRew F 120 vt (1) Ruomw B wlw ywAiw R R sk A ¥ sw
| Fole YAt § 9R YRR (3Y) RY M 81 F § @ sgeR A g9 &, R e Ie-mre
SfhT FTN ded 2| afe srul Y@ o F ¥ ofte wegad wE E @ 39w A
W IR T TN G g @ R dwe we & g g R
T o JegRR sem & Re Mo Iw-wE W& difd F9 ¥ Saeww i Re g faide AW
T F §F gHE §
e & whew qRaw 3 R gl @ gogor Sa-we W s e
H, FGH YW FAO-TA B ;Y W@ SR F TR To e saeww ¥ 3R 2
8. maﬁmﬂ@ﬁw—mﬁaﬁ%mwﬁm%wm%ﬁam—m
JelEE B Y ) WUR I A Wew JRaw @ I #oagEfa 2
9, Fv & % R ww vdew Raw $ aw ¥ goA E ‘
10. 7w I9A & fog gow _
TS TE-TR § IR 5 Ry g e se & g Tue femr s
() 7F yeT & g 9x Asfww Iux ¥ IRiEER g walw we % fog Re T wE o
I & Rrg wer 3y Fom e oo siEf w1 ww-Red s @ w7 ¥ Frer e
(i) 7R ¥ oficar uF ¥ Wfte SuX ¥ B, O W e I W owmgm, Tafy Ru
T IRT A A uE I @@ B B, B R 39 weE @ R swfwrEr @ @ e
1 gve Ry smam : ' _
(iii) IR IfRaR g0 2 weT %@ AL fFwm 9w R, sfq SwfmER gro Iww @ R
W B, @ 39 99 B fou w9 Tve 9dF femn o

[ 9T TF AIF qE TOHT JRAFT Grerr I A FE NG a9 aF T G ]

Note : English version of the instructions is printed on the front cover of this Booklet.

ﬁmﬁ'

2537




